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QEX|F=A 100ml 241 255 5.8
=2& 100g 693 718 3.6
HUHA 14 17 121 3.4
=g 100g 1,239 1,280 3.3
HE 100g 433 447 3.2
&S 10ml 199 205 3.0
0= 1009 658 677 2.9
LUILZ 100g 143 145 1.4
Stat 100g 690 699 1.3
& Xl 109 161 163 1.2
PUES 109 197 198 0.5
etH 100g 913 917 0.4
Aelg 1009 939 943 0.4
= 100ml 281 282 0.4
A 100ml 381 382 0.3
ALK 100g 1,702 1,705 0.2
oh == 100ml 436 436 0.0
A 100ml 69 69 0.0
NER 100ml 454 452 -0.4
== 100g 296 294 -0.7
ctH 1H 650 645 -0.8
dsoE 1009 869 860 -1.0
=4 100g 632 625 -1.1
&g 100g 250 246 -1.6
Jtell 109 225 221 -1.8
2ty 100ml 743 728 -2.0
e 10g 229 224 -2.2
AT 109 348 340 -2.3
Sct 100ml 156 152 -2.6
5 100g 574 550 -4.2




